PRODUCT CUT SHEET ﬁ»EcoFusten@

For Installers. By Installers.

PART NUMBER DESCRIPTION
4011013 J-BOX W/DECK MOUNT KIT BLK

ITEM NO. DESCRIPTION
1 EF, LID, J-BOX, BLK
2 HOUSING, J-BOX, BLK
3 GASKET, J-BOX
4 FLASHING, J-BOX, BLK
5 SELF TAPPING SCREW #12 WITH A SEALING WASHER ASSEMBLY
6 THREAD FORMING SCREW FOR PLASTIC, #8 X .750", SS
,  |#8-16 X 3/8" PHILLIPS DRIVE PAN HEAD 18-8 STAINLESS STEEL THREAD
ROLLING SCREW FOR PLASTIC
8 SCREW, PAN HEAD PHILLIPS, .250-20 UNC-2A X .625L
9 DIN 3 RAIL, 6-7/8" LONG, STEEL
10 GROUND BAR KIT, 4 TERMINALS
12.00
[304.8]
4 UPSLOPE N\ T
‘ 9.00
11.99 [228.6]
[304.6] J

DRAFT
07.25.22

REV: CS-1

/S A S S S ST A A AT ST A S S S ST A A A S S S S ST AA A A A S



PRODUCT CUT SHEET “:@}ECOFGStEW

For Installers. By Installers.

1) EF, LID, J-BOX, BLK 43
T [11.0]
5
4 R\ | |
8.87 7.94
2253 {it EeoFasten (201.7]

8.82
[224.1]

MATERIAL NORLY
FINISH BLACK

2) HOUSING, J-BOX, BLK

8.84
[224.4]

500 _ 309 |_
[127.0] [78.4]

- 2.70
[68.6] [
2.93
T [7a4] T
DRAFT
MATERIAL NORLY 07.25.22

FINISH BLACK

Rev: CS-1

/S A S S S ST A A AT ST A S S S ST A A A S S S S ST AA A A A S



PRODUCT CUT SHEET ﬁ»EcoFusten@

For Installers. By Installers.

3) GASKET, J-BOX

i
sC )
L

! 6.28 L e
[159.5] [4.8]

MATERIAL EPDM

FINISH BLACK

4) FLASHING, J-BOX, BLK

‘ / UPSLOPE )
9.00 ’ .
o\
[228.6] \
Q /
_/
N )
] 31 B 12.00
[7.9] h [304.8]
MATERIAL 3000 SERIES ALUMINUM
FINISH BLACK
5) SELF TAPPING SCREW #12 1.62
WITH A SEALING WASHER ASSEMBLY [41.2]

L @

[7.8] [6.4] [44.4] — 1
DRAFT
MATERIAL 300 SERIESESPTSII\I}LESS STEEL 07.25.22
FINISH CLEAR
Rev: CS-1

/S A S S S ST A A AT ST A S S S ST A A A S S S S ST AA A A A S



PRODUCT CUT SHEET ﬁ»EcoFusten@

For Installers. By Installers.

6) THREAD FORMING SCREW FOR PLASTIC, #8 X .750", SS

|
®.32 PHILLIPS #2 11 #8-16 TRI-LOBE THREADS
[8.2] [2.8]
MATERIAL| 300 SERIES STAINLESS STEEL
FINISH CLEAR

7) #8-16 X 3/8" PHILLIPS DRIVE PAN HEAD -
[8.8]
® .38
10
o3 ’M
[2.5] = #8-16 TRI-LOBE THREADS

PHILLIPS #2

MATERIAL| 300 SERIES STAINLESS STEEL
FINISH CLEAR

8) SCREW, PAN HEAD PHILLIPS, .250-20 UNC-2A

63
PHlLL|PS#3;@ [15.9]
P49 17 M.%o-zo UNC-2A
[12.5] [4.3]
MATERIAL| 300 SERIES STAINLESS STEEL DRAFT
FINISH CLEAR 07.25.22

Rev: CS-1

/S A S S S ST A A AT ST A S S S ST A A A S S S S ST AA A A A S



PRODUCT CUT SHEET ﬁ»EcoFusten@

For Installers. By Installers.

9) DIN 3 RAIL, 6-7/8" LONG, STEEL

L 72Ty
[18.3]
—J
1.38 1.06 . f
[35.0] [26.9] B & B B P P &
S L i I 27 1vp
i | 98 TYP [6.8]
1 [25.0]
30 B 6.89 -
[7.5] B [175.0] l
MATERIAL STEEL
FINISH ZINC ELECTROPLATE
10) GROUND BAR KIT, 4 TERMINALS
@ .25TYP OPTION A OPTION B

[6.4]

. 8y Bs5
1.57 A_ A4
" L ['7?;] [39.9] 1 [11.2]

MILD STEEL
MATERIAL 6000 SERIES ALUMINUM
FINISH TIN PLATING

DRAFT
07.25.22

Rev: CS-1

/S A S S S ST A A AT ST A S S S ST A A A S S S S ST AA A A A S



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View58

	Sheet2
	Drawing View30
	Drawing View31
	Drawing View33
	Drawing View34

	Sheet3
	Drawing View27
	Drawing View35
	Drawing View36
	Drawing View43
	Drawing View44
	Drawing View45

	Sheet4
	Drawing View46
	Drawing View47
	Drawing View48
	Drawing View49
	Drawing View50
	Drawing View51

	Sheet5
	Drawing View53
	Drawing View54
	Drawing View55
	Drawing View56
	Drawing View57




